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Use additional paper as needed


1. Find the bugs


The following algorithm is supposed to assign letter grades to scores.  It is an algorithm of a function that is passed an integer score value (0 to 100) and is supposed to print out a message indicating the grade.  





The grading is as follows: A (100-90), B(89-80), C(79-70), D (69-60), and F (59-0).





Function Assign Grade, called with an argument GradeScore


1. if GradeScore is less than 60, print “The grade is F”


2. if GradeScore is less than 70, print “The grade is D”


3. if GradeScore is less than 80, print “The grade is C”


4. if GradeScore is less than 90, print “The grade is B”


5. else print “The grade is A”





When called with an argument of 65, you would expect to function to print 


The grade is D


But what actually appears is:


The grade is D


The grade is C


The grade is B





Do the following:


A. Identify the difference between what the routine is supposed to do and what it actually does.


B. Identify what is wrong with the algorithm (i.e., locate the source of the problem).


C. Fix the algorithm by marking corrections to the algorithm.  (Don’t write a new one, correct this one).


2. What does this do?


Examine the following algorithm.  Determine what it does.  The algorithm takes an integer value as an argument, and returns an integer.





A. What is the output of the algorithm if passed the following values:


	55


	125





Algorithm foobar, which takes an integer argument inval


1. declare temporary variables var1, and var2, and retval.


2. set the variable retval to the current value of inval.


3. if inval is greater than 99, then do the following:


	a. set the variable var1 to inval / 100 (this is integer divide)


	b. set the variable var2 to inval mod 100 (this is integer modulo)


	c. set the variable retval to (var1 * 60) + var2


4. return the current value of the variable retval


3. Write an algorithm


Write an algorithm for a routine to read in numbers until the user signals they are done.  The routine should then print out the largest and smallest numbers, and how many numbers were entered.  You may choose how the user signals they are done.  You might ask them each time they enter a number, or you may loop until they enter a special value (such as zero).  If you choose the latter, the special value shouldn’t count as a number.
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